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@ 2x% — 4x?y + 3y° @ x4 2x% —y?
® 2x3 4 4x%y - y? <@>x3 4 4x2y 43
® 2 +4°

(24-B)+C
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O a®-0p? @a3—b3
® a®+ b3 @ a3+ 3a®b + 3ab* + b°

® a3 -3a®b + 3ab? - b3

A (a-b)(a® +ab+b%) =a®-b?
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O WAooz Ae|otH
3yx® + (9y — z)x + 5y — 4 °|th,
© e8AeoR Felah
5y —4 4 (9y — z)x + 3yx3 o[t}
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11. oA f(x) & 262 + 3x+ 22 U H Y Ho] 3x—40]31, Y™ 2|7t
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-1 @o ®1 @ 3 ® 5
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=6x3+x2—4x-3
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fA)=2+3+2)(3-4)+(2+5)=-T+7=0
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® (p-1(P*+1(p*+1)=p-1

B

O (x-y-12=x2+y>+1-2xy-2x+2y
® (=x+3)3 = —x3+9x% - 27x + 27

@ (a-b)(a® +ab+b2)—a -b?

© (p-Dp+ P>+ (p*+1) =p° -1




13. % o3t A, Bo) tiste] A4t A, vE AAB=2A+ B, AYB=A-3B
2 Aot
A=2+3x2-x3 B=1x*+3x+ 1% W Av(BrA)E F+5IH?
@ 2x3 -18x-10 @2x3—12x2—18x—10

@ 2x® +12x2 + 18x + 10 @ 2x% 4+ 12x%2 4+ 18x - 10

® 2x® —12x2 + 18x+ 10
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@ (ax-2)+ (7-2x) = 2x-5
(6% +2y%) =20 = 3x%) = 7a°
® (x+y)* =x"+ 3% + 307 +y°
@ (x+y+2)? =22+ +2° + 20y + 2z + 2

® (FP+1)+(x+1)=x-x+1

O (4x-2)+(7T-2x)=2x+5
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xof gt ohatA] x% +ax +bx+2 5
x+3°] HEE

> E:

> HE: ab= -6

a, b O #= AL W, ab TS T

¥ —x+ 12 the vejx7h
Fstelet.

~&B

ANAE A

3188 Aot
a=-2,b=3
ab = —6

Pt +hrt2=(F-x+1) A+ (x+3)

A= (x+p)
P ta +bx+2-(x+3)=(*-x+1)(x+p)
Brad+bh-Dx—-1=(EP-x+1)x-1) ~p=-




20. x+y+tz=1,xy+yz+zx=2,xz =34, x + Dy +1)(z+ 1)
o] k& Fotofet
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> ®™e: 7

(x+1Dy+1)(z+1)
=xyz+xy+yz+zax+x+y+z+1
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